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1. Change each exponential expression to an equivalent expression involving a logarithm.
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2 2=109 |.&
b. a? =16 egs EA

C. e¥=8 y=log 3}
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2. Change each logarithmic expression to an equivalent expression involving an exponential.
a. log,8=3 g’
b. log;3=6 3:=a
o o d=E Yo

3. Solve
T

a. loggx=2 x=3

)
log, 64 = x @B alredy solved !

b.
o
c. e3x =10 2x= 103elb = R& l.o_ﬁgi—-
d. log636=5x+3x:|096;g-3
4. The pH of a chemical solution is given by the formula: pH = g10[H*] wheye [H*] is the

acidic) to 14

concentration ydrogen iofs in molgs per liter. ¥alues of pH range from
asic).
& at is the pH of a solution for whieh [H*] =/0.1?

¢ What is the pfi of a soldtion for which [H*}= 0.01?
¢ What::{(yﬁs to hagp/en to pHas hydtr%e/h ion concentration decreases?

d. Dit/e}r lne/t[\ﬁpﬁaroge on concentration ofwge with pH = 3.5.

5. The forpula D = 5ey 04"

is in @patient’s bloodstream

6. Write each expression as a single logarithm. y 3 L>
g = TS
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c. loga(x?+ 3x+2) —2log,(x +1) = Ioﬁq(x F3Iv¥2) : A
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